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lll Semester B.Com. Examination, April/May 202

(CBCS) (2015 - 16 and Onwards) (F+H)
COMMERCE

3.3 : Corporate Accounting
Time : 3 Hours Max' Marks I 7L)

tnstruction : Answer should be written qompletely either in English ar in
Kannada.

SECTION _ A

1 . Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)

a) Give the meaning of underwriting.

b) What is the parlial underwriting ?

c) Mention the Ratios required to calculate profit prior to lncorporation.

d) State any 4 factors determining the value of Goodwill.

e) How do you calculate lntrinsic value of shares ?

f) State under what heading the following items will appear in the Balance Sheet

of a company.
i) Calls unpaid ii) Loose tools.

g) What is the fair value of shares ?

SECTION _ B

Answer any 3 questiorys. Each question carries 6 marks. (6x3=18)

2. Ganesh Co. Ltd. issued 50,000 shares of t 10 each. The whole issue was fully
under written by ABC and D as follows.
A - 20,000 shares B - 15,000 shares
C - 5,000 shares and D - 10,000 shares
The company received applications for 45,000 shares of which marked
applications were as follows.
A- 22,A00 shares,
C - 1,000 shares and

B - 11,000 shares,
. D-9,000shares.

Determine the liability of each underwriter.

3. Shiva Ltd. had purchased a business on 1.4.2019. The company received its

cer,tificate of lncorporation on 1 .9.201 9. The average monthly sales for the period
, before lncorporation was 25% more than the average monthly sales forthe period

after lncorporation. The total sales during the year was { 26,50,000.
Ascertain :

i) Time Ratio
ii) Sales Ratio
iii) Pre and post lncorporation sales.

Max. Marks : 70

P.T.O.
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4. From the following information calculate the Value of Goodwill under,
i) 3 year purchase of super profit method.
ii) Capitalisation of super profit method.

a) Average capital employed - t 4,OS,OO0.
b) Net profit of the firm for the past 3 years were t 61,OOO, { 4g,2SO and t g7,7fi.
c) Managerial remuneration of emproyed Elsewhere { 9,000 p.a.
d) Normal rate of return 8%. 

i

5. From the following particulars of Karunya Ltd., compute the value of shares
under Yield Method.
a) Equity shares of t 10 each.
b) Profit for the last 3 years { 75,000, t 7g,OO0 and t g7,O0O.

c) 20o/o is transferred to Reserve.
d) Normal rate of return - 10%.

6. Under which heading would you show the following in company final aecount.

-2-

b) Undenryriting commission
d) Pension fund
f) Unclaimed dividend.

SECTION _ C
Answer any 3 questions. Each question carries 14 marks. (3x14=41

7. A Ltd. Co. issued 1 ,00,000 equity shares of t 100 each. M,N,O and p undenrurites
the entire issue in the proportion of 3Oo/o, 3Oo/o,20% and 20"/o respectively.
They also apply for firm share application as follows.
M - 3,000 shares N - 2,000 shares
O - 2,000 shares and p - g,0OO shares.
Agides the firm application, the public apply for 60,000 shares of which marked
applications are as follows
M - 10,000 shares N - 6,000 shares
O - 8,000 shares and p - 16,000 shares.
calculat,a the Net Liability of each underwriter treating
i) Firm underwriting as marked application.
ii) Firm undenruriting as unmarked application.

'A' Ltd. took over the business of B on 1.4.2019 and it was incorporated on
1.7.2019. The PIL Nc of 'A' Ltd. on 91.9.2020 was as follows.

8.

a) Provision for taxation
c) Work in progress
e) Loan to employees

Particulars
To Commission (sales)
To Advertisement
To M.D. Remuneration
To Depreciation

T Particulars t
5,250 By Gross profit 1,96,000

10,500 By Bad debts recovered 1,000
19,000
5,600
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To Salaries 36,000
To lnsurance 1,200
To Preliminary Expenses w/o 1,400
To Rent and taxes 6,000
To Discount 700
To Bad debts 2,500
To Net profit 1,09,850 

i

1,97,000 ' 1,97,000
Further details :

a) The average monthly sales after incorporation was twice the average monthly
sales before.

b) Rent which was paid for the first 3 months at t 400 P.M. lncreased by
t 100 per month for the balance of period.

c) Bad debts of t 350 related only to the period after 1.9.2019 and the Balance
related to the sales made upto 1 .9.2019.

d) The Bad debts realised belong to the bad debts which were written off in 2019-20.

Find out the profit before and after incorporation.

9. The B/S of Divya Co. Ltd. as on 31.3.2020 is as under.
Liabilities { Assets {
6,000 pre shares of 6,00,000 Fixed assets 10,00,000
t 100 each Stock 3,50,000
10,000 Eq. shares of 10,00,000 Debtors 4,50,000

Cash at Bank 2,00,000t 100 each
General reserve ,: 80,000
PIL Nc 1,60,000
S. Creditors 1,60,000

20,00,000 20,00,000
The profit of the company (before providing for tax 40%) and the rate of dividend
declared in respect of the last 5 financial year are as follows.

Year Profit Rate of dividend
2015 - 16 2,70,000 B%
2016 - 17 3,1p,000 1A%
2017 - 18 3,40,000 1270
2018 - 19 3,30,000 15%
2019 - 20 3,60,000 15%

, You are required to find out the value of Goodwill of the company on the basis of
a) 5 years purchase of super profits.
b) Capitalisation of super profit method.
c) As per annuity of super profit taking P.V of annuity of Re. 1.00 for 5 years

al10o/o is as 3.78.
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10. on 31.3.2020 the Balance sheet of Jagadish Ltd. was as follows.
Liabilities
5,000 shares of t 100 each
PlL Nc
Bank over draft
Creditor,s
Provision for tax

t Assets

Provision for dividend 75,000
&,20,0s0 9,20,000

The 5 years net profit of the company after deducting all working charges and
providing for depreciation and taxation were as under.
2016 - t 95,000 2017 -t 96,000 2018-t 90,000
2019-{ 1,00,000 and 2A2A *t gS,0O0

on 31 3.2A20 Land and Building was revalued at T 2,50,000. Plant and Machinery
at { 1 ,50,000 and Goodwill at { 1 ,50,000. The normal rate of return is 10%.
You are required to ascefiain the value of equity shares under
a) lntrinsic value method b) Yield value method c) Fair value method.

11. Following are the B/S of Karunya Ltd. as on 31.3.2020. You are required to
prepare Final Account of the company after taking additional lnformation into

5,00,000 Land and Building 2,2A,0A0
i,03,000 Plant and Machinery 95,000

20,000 Stock 3,50,000
77,440 Debtors 1,SS,000
45,000

t Credits t
30,72,000 Share capital 40,00,000
33,00,000 12'/" debenture 30,00,000
7,50,000 PIL Nc 2,G2,500
8,70,000 Creditors 7,70,000
2,50,000 Sales 41,50,000
4,06,500 General Fleserve 2,50,000

75,000 R.D.D. as on 1.4.2A19 45,000
3,92,500

''i9,50,000

50,000
9,79,900

69,350
2,42,25A

21 ,1 00
1,80,000

1,24,67,500 1,24,67,50A

consideration.
Debits
Premises
Plant
Stock on 1.4.2019
Debtors

Bank balance
Calls in arrears
lnterim Dividend
Purchases
Preliminary expenses
Wages
General expenses
Salaries
Bad debts
Debenture Interest paid

Additional lnformation :

a) Closing stock is valued at t 10,50,000.
b) Depreciate plant at 15%.
c) Write off t 5,000 from preliminary expenses.
d) Half year debenture interest is due,
e) Transfer { 25,000 to General Reserve.
f) lgnore Corporate Dividend Tax (CDT).
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(5x2=10)
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1. clndtoaddo 5 erud-d$ed eru$otu. $0 wd-{dJio 2 eeodrldc.

ii) dae-r Fadddsb.

a)

b)

c)
d)
e)
f)

a)oeo ?idddo$ edr add#o$dg oea.
prids $oeO dC.E aodoed> ?

doCoerd dpdr erzJ dcrd:baoJ:ep erdd-ad:d
2)

I

rd eedJmddd& diox,.
EeBr dfa%d dd1bqDdoiaiod olnd;cndde 4 eodddd:odio,r,.
aea:to oSao*;st"riqDed deri ed id;geo 7

dodp c: e @" J *9 te- "s, d! n;d dE q oS * I eard c> a o$ e)- ri.o ea3ot'c$d
.ror^ndQ oer.
i) aadsid dd dm

g) de&dd anroJ:Cld dioe; ccCded: ?
S?troil - t)

:;n{mddro 3 ddferi e,!90tu. de dd$ 6 eoddq;b (513=18)

2. rl#ed otur,Suso dodc t 10 C 50,000 ded:ddd1 a:d:rld Cna*. "adClei dddodod

dBear $oeo ?iddd Cndernd.
A - 20,000 ded:rlsb B - 15,000 de&ddc
C - 5,000 ded:rido abQ D - 10,000 ded:rldc
dodpou 45,000 ded:dd edrcJ:d: ddd:dooadrdd. ndd0_ rl:dredet^: erdrddc
ds dddodo,Sd. '{ r
A - 22,000 de&dq;b, B - 11,000 ded:rldc
C - 1,000 ded:ddo aj:dl D - 9,000 de&dd;
dgC"?, $oeo dddd#dd raoz,noocgd: dodbaobo.

3 , 5m ea;03a" z"oC: d,dmadddf 1 .4.2019 dod> $oeoio$d. er dodOo$ doC.,o erdoJr
-'gdrr dgdq a$od t.g.}otgdcc ddo&gd."doo3o*o$cr> dBdr dnnd
iodo docno^ld; iooSoexdo3: doddd doxrd dcndo C'ncnuE*od de. 25dd*

=Bamnd:$d.
6i Cdrd z"uu, dncnud t 26,50,000dw0nd;$d.
i) E$o$d 6*r-ng
ii) dncnul erd:and
iii) icoloerdcb {pdr drQ doddd dncno,l dod:aaou:0.

4. el ddnd d>aerlwoC tegr dfre"r,d deio$dlEddod aqndride_doC:aaor:o.
i) 3 ddrrld wd*{ enzJ s:oeai,aog. 

R 
ii) erud*{ enqTuodoopedoxrdod.

a) dodnx,dooadcd doado z.:odaad{ 4,35,000.
b) io{o$ bood 3 ddrrld e{d eroqJ T 61 ,000, t 49,250 d>* t 87,750.

c) uied dd wdoreddO$d dddqddd dopdd ddrd* t 9,000.

d) saqadso sEd dd AZ.

4
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(3x14=4

5. ucd>eau &o$Drd dod&oJ: 6i ddnd Cnagrlpcd wd,$ aqrDdd uEC;e_ ded:rld
dro e.,r3s1 do d;& a or: o.

a) ;odnd, ded:rid dd t 10.

b) &oDd 3 ddrdd crrd { 75,000, { 79,000 ab4 t B7,oo0.
c) tueiu: &Qri drBrdd de. 2C'*'
di roood, ,i,ia dd de. l odiJu"*u

6. dod&o3; epo8d: andcj:O 6* dddoddldde$ o$Dd geardoJ:Go$e doeoxbao I
a) dorioJr A:edw " - 4t 

b) $oea ddddcidcns
c) doi ddec;o$rdc> d) aoded ee
e) wdorenrlgri &e&d xne,r f) ddo* ddobd engnod.

e6nrl - ,tr

olndtcmddo 3 -gd;ipri en:.dox:. tse 6dJ 14 erodddc.

7 . A doah eo$aldt 100d 1 ,00,000 -"dr$ deedddiadox,&. egdddl M,N,O dq p

aou $oe6 qjdddoDdd) 30%, 30/o,20% ubQ 20Yo gidnmd0_ $abamn $oeo
dddd eed:Ed. erdd; do{oJ: de& edro$d}6s dddodod eed.:Ed.
M - 3,000 de&rlq;b N - 2,000 dedcrist
O - 2,000 ded:rlsb d:dJ P - 3,000 de&dsb.

do{o$ de&dddldn dd;daA,, ;cadraed& 60, 000 ded:ddd1$o e oldd.:. ug dd0_

rb&$ dnad de&rld esdrddo di dddodoSd.
M - 10,000 decbrldo N - 6,000 de&rlst>
O - 8,000 ded:dq;b $4 P - 16,000 ded;rld;.
€* d>ee.:*od addrleod a:oeo qjd#cndd &dd xanunooJ:dle ds#odod doCaaos:0.
i; oar{ dddd doedo$d1rb&$ Cnad erdroirodr dods6,x.
ii) Oar{dddd do,gdo$$-rbdr* CD6d epdrC;ocjJ dorird:,.

8. 'A' dod& CIdJeJd BC) 3odo3:doo ouaod 1.4.Z}19dodc $oeo a'oderofld,
6oood 1.7.2o19docb iodlo &sdrhoadcdd. dodOcJ: eDqJ d:+ did amdoJ:
omod 31 .3.2020 dq^* dddodoe&Qd.
Adoilq) { AEJUilq)

den_e (dnoanid d:eeJ) 5,250 dop cnsJ
eoboodr 10,500 dioenr(o xae.r
M.D.o$ iopdd , 18,000 &ood:n ddacb_
dalde 5,600 o

deddrldc 36,000
,ldJ 1,200
agdopd d{JfdQ, dricbmatd:dcb 1 ,400
t,,Dari *QBort ' 0,000
d,DeA 700
ddoorld nae.rrlq;b 2,500
e{d end 1,09,8s0

1,97,000

t
1,96,000

1,000

1,97,000

t
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edd addrl$b:
a) dooloeado$ doddd edeoJ: d>x,d do-odo dnoao;{p dBdr ioojoer$oJ.>

erdqO: dn:,d dodo dncntit,od.rdd: do^u dzond.
b) dods B .gcrldddri zaari .a&en t 400 #*o#oRcb , z,yo6 erued ud6rl

T 100 du:iennd.
c) di,e e;rid xoeddc t 350 ooood 1 .9.201 9d doddd ed6ri dor,,ropr,cb^ $e ms

w-ed rhtosEdd naerrlq;b 1.g.2O1gd ddri Cnaa d>oawd-, iouoe:,# -D

d) c-^.,rcrlc ;oe,: bo€d:n ddacb. 2019-2od ddr{ dnad dnoor^id* douoeld.
i::J..aeado$ {pdr dl* doddd edqO cnqJddldod:Aaor:0.

9. o=- ;oab Otuuiu5"d eFDd *9*t gl.g.Z1z}docjc €r dddodoed.
;mualJrl$ t erarl$b {a
6.000 6-rd ded:rlsb { 1OO 6,00,000 :1orq"nvU 10,00,000
1o,OOo -d"q de&ddc t 1OO 10,oo,ooo 3.d* B,so,oo0
mdnd, .):edel 80,000 dsdt$ 4,s0,000
*d^ rb* d{aad 1 ,60,000 zororde;nd ddcb 2,OO,OO0
ubsdrl$b 1,60,000

20,00,000 20,00,000
ddd 5 ddrrld de. 40 dori d>q ened d>* dodpou &ecdJd en{odd ddd* €3
dddodo.g$dd.
ddrrlsb
2015- 16
2016 - 17
2017 - 18
2018 - 19
2019 -20

dori drdcn$
2,70,000
3,10,000
3,40,000i' g,3o,ooo

3,60,000

oae.nodd ddrt$b
8%

10%
12o/"
15%
1SYo

dodoo$ Eegrdfoord dejc.>dloedt ei ddnd apddd e&o$e_ dod>aaouo.
af s ddlld wffi e>rf $oealdod.
b)

c)
erDdo.d, oep u-odaaeeddead eqDd.,.NUd
edor[^3 wffi e:aal eaad de 1Odod ad> ddrdd eldorrJo$od r^,oc dnaaouo$

$d! dfoo, t s.78.

10. esdoeer dodoo$ cFad dgd) oanod 91 .3.2o2odocb $ dddodosd.
esilosroorlc)o
5,000 dedodeb T 100
eneJ ab* d{ and
tJD^of t dcro 6.J.d

"ritaa*u 
, r)

dori areiu:
oz;noddd o):eder>

u:lrlqb
rlia, d:t dqddsb
:-?rl i.J.
Nc,rC^rU C^L/\3.,

OJ
o$odgedddearldc
mB$
drddsb

T

5,00,000
1,03,000

20,000
77,004
45,000
75,000

8,20,000

{
2,20,000

95,000
3,50,000
1,55,000

8,20,000
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dodpcr 5 ddrrld e{d sad aen_u'oo$r dz{rido, ddde a.:ede.r:, dori a:sio;d#iJ
ddd dodd dr dddodod"ad. a R

2016 - { 85,000 2417 -{ 96,000 2o1g-t 90,000
2019-t 1,00,000 ab* 2020 -{ 95,000
ooaod3l .3.2020do- qioar unQ dqddd {;do dFerdndennd. t 2,s0,000, :o_dd
d>Q o::ofuedddeadq;b { 1,SO,dO0 hdo *eor *rye.,, { 1,50,000 eyn&dd. -p?r:
enqJ dd de. 10.

dddod eWadd+ eraC:e)_ eed dodCo3:;odnd, ded:dd dejo$dl doCbac:0.
a) esodod dfae.:, cCDd b) wd{Cfoe-r, Dpad c) anrc;oj-r:d aiiPe-:, aq}Dd.

1 1 . ua&g dodp &o$tudd eed d$ oancd31 .3.2020doC: €i dddcdosC, ddd &eadrd
dqF *a&edqidldradri drlcj:d.raod.: dodnoJ: ero8ab eid*dd$ t{ia,l.
d0rl$b
drdmadd etddea

AJc., C^J lJ

eoae$ 1.4.2019
q)N/)Y.)

6eErdJJo.
d

zmroado$>d ddcb
dddd zueE dea

abmrodd engnod
$oeOriq;b

t
30,72,000
33,00,000

7,50,000
8,70,000
2,50,000
4,06,500

75,000
3,92,500

18,50,000

50,000
9,79,900

69,350
2,CIz,250

21 ,1 00
1,80,000

1,24,67,50A

rbrdd$b T

ded: uodmd 40,00,000
12o/o frg idrrld.: 30,00,000
md abQ d{ s:nd 2,62,500
cJ:$rldo 7,70,000
dnoaudq;b 41,50,000
xnCnd, &Q a;ede-r: 2,S0,000
ee$dlondd nae.rdd 35,000
$eed zudq: 1.4.2019

1,24,67,500

a)

b)
c) t 5,000dddl agdorpd drSfleoC ori*earcb^.
d) nae;d$dd driod uqut'i*drd* "adq m*5io*d)cb.
e) t 25,000 ,.0-c$d edri dnardd dDedd)cb.
f) CDT erdl ce-trgr.

agdopd d{d*b

ddsb
drDO

nadnd, d
J^JJJ.J.cD(ec0r\W

ddoenrid xasrid,:
;oe.:d$dd abe0d uE mdelcb

dtJd dnbsdst:
omod 31 .3.2020d0cl: e.rogdi cnna&d diEe.r, t 10,50,000.
xo_ddrld J:eed xdde de. 1S%.

O


